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M-I (PART - )

[3]

[A]

919 9% 9 RS (CHILD DEVELOPMENT AND PEDAGOGY)

3T : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

g

|

frfafed § @ @W-a1 6 FEH

s &1 fQarel wd el & Hed

T T IS 7

() Fédem et afm &t ge @&
U H ¥ GedFar & 2

Q) MRy oH Rem & | &
foepra @1 FomEr 3 R

3) R da@ = & WE B
gmﬁaﬁﬁmaﬁmm
|

(4) Eem et = @ ot W
g T & § GeEdl T 2

& G Gaedl B A H A 8,

T el & 7

(1) WEas feas

(2) SAIYROMHS e

(3) g fei

(4) STArEATES T

frefofag & § #9911 @& &N

Aqra=rell @ fadvael & w<d § Taq

HT & ?

(1) HFT qraelf & Mg B 2|

(2) HEAN ST B B

(3) A9 & | AL QI IS AR
gaﬁwéaﬁrﬁaﬁr%ﬁwﬁr
|

(4) SEER SMad & AEen 9@ A
Fif% ITH TE B Alah G
& B B
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1.

[

o

Out of the following which one is

the wrong statement in context of

characteristics and nature of guidance ?

(1) Guidance is assisting the
individual to adjust himself.

(2) Guidance is promotion of the
growth of the individual in self

Guidance.
(3) Guidance is  helping the
individual  himself  through

others efforts only.
(4) Guidance is assisting an
individual to find his place.

A type of thinking in which one's
interpret sensation with experience is
known as what ?

(1) Reflective thinking
(2) Perceptual thinking
(3) Creative thinking
(4) Critical thinking

Out of the following which one of
the statement is wrong in context of
characteristics of sentiments ?

(1) Emotions are the basis of
sentiments.

(2) Sentiments are innate.

(3) Sentiments get older with the
passage of time and they may
even change their state.

(4) Most of the animals do not
have sentiments because of they
do not have intellectual
comprehension.



[A]

|

g

[~

|

frafofag & @ @9-8 T oo
e @) fasisar 78 ' 7

(1) fqaeg a9 @ < &0

(2) g9 31 T IUBTH HIAT

(3) T

(4) X @ § e
Frffad 3 & @9-91 T 9950 &)
s SIS £30)c S o o S O o
HaNHHD  ARTE B Fa dlichd

(1) SEINTHS: — RS —
SRS — IATEA

(2) SEYNTHS — SARERUIES —
YLUlIH — dcHlar

(3) ANPRTHE — EUNHE  —
gROTHE —> I

(4) SAYNTHF — GRS — Icaed
—> SRS

I5 fhed @el & “afRd TEe
AR fsia wgkt & am &7 7

(1) #fféq B (2) it

(3) AT (4) ded
frfofag & § @9-a1 fom & Hed
T /g U B 7

(1) fawma & oftgdw ffeq &ar 2
(2) foemmETeT® Yot AgEigAd B gl

(3) RPwE e, ugEEd e @
Jo § URT G@heql Bl o

(4) @ URUFEAr Td A @
3E BT R
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4. Which is the oldest method for the
study of behaviour ?
(1) Experimental method
(2) Clinical method
(3) Psycho-physical method
(4) Introspection method

g

Out of the following which one is
wrong characteristic of Delinquents ?
(1) Damaging school property

(2) Bullying and mockery

(3) Torturing

(4) Aesthanic in constitution

|®

Which one of the following is the

correct logical order of observational

learning process according Learning

Theory of Bandura ?

(1) Attentional — Retentional —
Motivational — Production

(2) Attentional — Motivational —
Retentional — Production

(3) Motivational — Attentional —
Retentional — Production

(4) Attentional — Retentional —
Production — Motivational

[~

Who stated that "Personality is the
sum total of innate and acquired
dispositions" ?
(1) Mortin Prince
(3) Valentine

(2) Allport
(4) Cattell

|

Which one of the following is false

statement in context of Development ?

(1) Development involves change.

(2) The development pattern is
unpredictable.

(3) Early development is more
critical than later development.

(4) Development is the product of
maturation and learning.



9. WERHAT NG &7 ¥ TEH q I
2§
(1) Qgraraean §
(2) SAX @ |
(3) qd ST |
(4) fopsmRre |

10. Frfofed & & &9-@ w6 fvaag
gﬂfﬂﬁqﬁﬁmﬁaﬁ%awﬁ%ﬁaﬁ

(1) HeTTcae Sishand

(2) Aam

(3) &Yl TW q AHRE SR AR
BB

(4) IRad & T AR gHed

11, @efpal & g J99E & %Es |
fpee Tanfaa fopar & 7

(1) SNETH @ Tty
(2) oGl AGT T+
(3) @UH G

(4) TIeiRan &t s

12. HH-HA dfel T & s
AU AT b o H BH gRE b
) T Ad & OTfal 9l b I
B &, d8 dAHA & DA Ew
FEA & 7

(1) JAFEA &1 FEw

(2) =T o0 R

(3) u1g 9 g well & fm

(4) G #1 |
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[5]

g

[A]

Girls surpass boys physically in :

(1) Infancy

(2) Later childhood
(3) Early childhood
(4) Adolescence

Out of the following which one is
the subject matter for study of
Gestalt Psychologist ?

(1) Cognitive processes

(2) Consciousness

(3) Mental and behavioural
processes a wholes

(4) Modes and  problems of
existence

11. What did Freud consider the paternal

love of girls ?

(1) Oedipus complex
(2) Electra complex
(3) Narcissism

(4) Feeling of dependence

Sometimes the children of gifted
parents are born with less intelligence
than their parents or vice versa,
which Law of Heredity is called ?

(1) Law of Regression
(2) Law of Selective Traits

(3) Law of Maternal and Paternal
Lines

(4) Law of Chance



[A]

13, Freffad ¥ @ A8 s

o
YR I Bl AT & ?

(1) guEarE oY e
(2) U Afsd @9 § a9
(3) A 3 Ty RS & g9

(4) T AR # 9WE A I 4
TR AT

frfafed & § F-8 & S

‘%‘Hﬁﬂ R’ &) wed @& e
?

(1) Rl — afiR® awifa —
T Ref

(2) Rl - aFfEE Rl —
IR et

(3) R — ARG AR —
T Ref

4) MRy - A9k Rafa —
SURIECRE NI

Frfafgd & @ @F-8 6 S=efe
% fagwer 7@ & ?

(1) STTRRHFT

(2) e qRREfT F TR

(3) I &

(4) STIFRAT B HesTdl & Bl

frfafed & & $9-8 0% gereenar
B SR MST N SNl GiEAfedd
Tohich § Siauied 78 @l ® ?

(1) G STt
(2) GHF a%] Bl @i
(3) ¥

(4) Hepeae femfor
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[6]

13.

Which of the following is the
characteristic of introverted thinking
type personality ?

(1) Realistic and Practical

(2) Absorbed in his own intellectual
pursuit

(3) Supports theory with facts

(4) Propagates his views
insistence and vehemence

with

Out of the following which is correct

sequence given by James Lange's

"Theory of Emotions" ?

(1) Situation — Bodily disturbance
— Mental state

(2) Situation — Mental state —
Bodily expressions

(3) Situation — Bodily expressions
— Mental state

(4) Situation — Mental state —
Bodily disturbance

Out of the following which one is
not the characteristic of insight ?

(1) Incidental

(2) Response in novel situation

(3) Habit strength

(4) Response spontaneity

Out of the following which one
is not the stage of -creativity
prescribed by Gordon in his
Synectics Technique ?

(1) Detachment involvement

(2) Finding something similar

(3) Deferment

(4) Concept formation



17.

frfafag & @ ®9-dE w6 EQwa

gﬁw&nﬁa&ﬁaﬁg&@m 72l
?

(1) oot § R TEF @ 9 2

(2) BT gHRTE FE B TR B B

(3) gd TER &H AEHNE WA §
R a1 § SR §= S

T 8 2

(4) S FB IBA G A QT &8 34
TRHAN TG & [T € 95 H=rE
P METHAT BNl Bl

ngﬁﬁwmmwgﬁﬁﬂwam
?

(1) 10 9 12 a9

(2) 69 12 a9

(3) 11 ¥ 16 a9

4) 8 § 10 T

Frfifad & & #9-G1 @& g &
fsaresT aiieror & YR 7@ ® 7

(1) STt STl gerT

(2) BT P A6 (Sl &0

(3) 99 O/ ghET

(4) 9 TAT G

S g & FgER S== fhH oy
T 7 ST T i A © ¢

(1) 67 839
(2) 89 1099
(3) 78 99
4) 119 1499

21. I8 fhOT Fal o1 6 ‘U AR I

U # gREAE BT & Riom d
I T 9 & @ e @ 8 7
(1) T (2) feawEts
(3) sihEH (4) I
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[Z]

[A]

Out of the following which one

characteristic not suits to gifted

children ?

(1) Learn rapidly and easily.

(2) Perform difficult mental task.

(3) Knows about many things of
which most of the students are
unaware.

(4) Much drill is required to retain
what he/she has heard or read.

What is the age range of puberty
stage ?

(1) 10 to 12 years

(2) 6 to 12 years

(3) 11 to 16 years

(4) 8 to 10 years

Out of the following which one is
not the type of performance test of
intelligence ?

(1) Army alpha test

(2) Koh's block design test

(3) The cube construction test

(4) The pass along test

According to Jean Piaget between
which age the child develops
abstract reasoning ?

(1) 6to 8 years

(2) 8to 10 years

(3) 7to 9 years

(4) 11 to 14 years

21. Who stated that "An individual is

intelligent in proportion as he is able
to carry on abstract thinking" ?

(1) Terman (2) Dearborn

(3) Buckingham (4) Calvin



[A]

22.

T & A g Hidie god
oAl @l STEC Mepled Bl TshAT B
I PEd B 7

(1) Giafe R

(2) HidREE Hagasiadr

(3) @iafes ==

(4) Giafe ame

23. F=fafad & @ #-41 @6 Tl

foe Suge 7@ & ?

(1) e aferar foene & ARaget Rafa
Ya BT

(2) ot & uel & SR &

(3) g9 FHEN
(4) Fem g fEm-fomst

A el ge51 ghEer ¥ A @
freifRa & ?

(1) 12 2) 10
(3) 30 4) 31
25. s wEfeE @ o @ w9 § R
ST ST § 7
(1) 3o Tdo YMSEH
(2) TSt
(3) &&ie
(4) THie

QREMG® THle B STAEhR fBa
foba o ?

(1) So 3o wosTE

(2) So TFo HIRA

(3) 3o dlo TAH

(4) Sfto THo HMIX
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[8]

What is the process of releasing the
hidden emotional suffocation and
powers inside the children called ?

(1) Emotional stability
(2) Emotional sensitivity
(3) Emotional catharsis
(4) Emotional competency

Out of the following which one
activity is not suitable for satisfying
the instincts curiosity ?

(1) Awarding positions in the class
or school

(2) Answering the questions of the
students

(3) Problem solving
(4) Discussion in class

How many cards prescribed in
Rorschach Ink Block Test ?

(1) 12 (2) 10
3) 30 4) 31
Who is known as father of

Educational Psychology ?
(1) E. L. Thorndike

(2) Pestalozzi

(3) Herbart

(4) Froebel

Who invented sociometric technique ?

(1) J. E. Anderson
(2) J. L. Moreno

(3) E. B. Hurlock
(4) G.S. Marmor



21.

URFT & AR AR & FHIGHINTD
faeprg @ AT SR - R ?

(1) MG §9M

(2) YedM SAM YA Hif
(3) UREH B g™ B
(4) SN I RERar

@B o @ Be-H
AT H ‘T dRuFEar STaRl Fel
S g ?

(1) raraeen

(2) SrEET

(3) fopeIaeen

(4) Trereren

29. W9 HE ek AU RNl qen el

% el T8 g A & e S
& HT AT & FOTEH T8 IFIHT BT
e B, O 39 TER H R dE-4
SR Sl V& gikT dearl § 7

(1) TreTHERTeT

(2) 9&9o

(3) Sfifer e

(4) e

frafafag & @ S9-91 SEEen &)
g 99 f9hR 78 B °?

(1) STt o HH

(2) g
(3) T I
(4) BHAT

[91]

[A]

21. Which is the fourth stage of psycho-

social development of an individual
according to Erikson ?

(1) Intimacy v/s isolation

(2) Identity v/s role confusion
(3) Industry v/s inferiority

(4) Generativity v/s stagnation

According to 'Ross', which stage of
development is known as 'Pseudo
Maturity' stage ?

(1) Infancy

(2) Childhood

(3) Adolescence

(4) Adulthood

When a person tried to make his/her
thoughts and action according to
other whom he like to follow, then
this kind of activity called which
type of defence mechanism ?

(1) Identification

(2) Projection

(3) Rationalisation

(4) Displacement

30. Which one of the following is not

the common
childhood ?

(1) Depletion of Energy

speech disorder of

(2) Lisping
(3) Slurring
(4) Stuttering
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[10]

[T - II (PART - II)
A7 (< g 3fSH) [ LANGUAGES (HINDI & ENGLISH) |
f&=<t (HINDI)

3 : R 797 % o7 &7 & [ qag ST 4wy g

31.

fheg  wEaEs g @& fE
AfRTaTe e § g 8 7
(2) B
(4) AIq

(1) S
(3) T

32. [ focq § ‘dahared®’ a@d & ?

(1) Bram a3 = 2

(2) A A omel @ & =

(3) B AT & B HEH N B S
(4) TSI YT HAA B B

33. U @ 3 @ fpE = #H @

R ?

(1) A - T
(2) FT -
(3) femiisT - &4

(4) qgU - A

34. GUE-FE # e § IH-AT A

gaTe ?

(1) BIHET - & q I il B
(2) R - 9 § 9 o ar

(3) RIS - I & TR AfKT

(4) ggEle - 9y & fow gt
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35.

Fret & & di9-a1 9= ‘of’ Sued @
ffig 78 ? °
(1) g
(3) oryfed

(2) g
(4) SFFTH

3. M9 # 9 59 ey &1 #9 Tog

g7

(1) " ® I=R0 ©E ot B

(2) et @i @i o A aen |
P WA B

(3) ‘@ AR T B} od WX o Fa
S Bl

(4) ‘g A ‘@’ e aot wEw 2

37. 59 fohea & ol 9= fRew 8 °?

(1) drstars, AsiH, &
(2) FRR, SARTIENRT, FHEMI

(3) FAH, STHHH, TeEaR
(4) fenea, e, &Hal

38. YgigarEl v=a & ded § oG faeeq

ﬂﬁQ:

(1) S - =T, TE, Al

(2) SEFHR - 3, T, 7%

(3) fBRT - A, @, g

(4) @reT - B, Aggd, SfERy



39.

41.

42.

fpe are # uRwcEEE oo @
ST B3N ® 7

(1) F Hicht e T g

(2) 3@ 9 99 # §gq A PRI
(3) B & NEM =T 2

(4) RAS T8 TS ol

40. QUi & 99g Al GeEar S §9i

B & SH A B Helh Qi
gﬁﬁ{:

(1) S99 & [F® & TR

(2) gul AR A

(3) R R @t drest BT ST v
(4) AW % AW STl & aH

e A § gaam el oRgRE T ?
(1) TR J&T% 98 Tel a8 o

(2) & ST B X @ g

(3) REm +ft @/ &, e B

(4) W B FB W IR T A @

foeir s @ g @ ogfed g™
TR

(1) 9 - 9%

(2) R - Fe=ERa
(3) faqga - wfer
(4) 7YX - =g

[11]

43.

[A]

B & d€9 § @9-w W oglaa

g7

(1) Pl g% W e w® &1 -
CELCNER)

(2) T 9 P 9 foredt Bl -
faeprien foma

(3) s & AR 9" W R -
REXCAEDI

(4) T2 foEeT § ST @Ml @I -

s Be

44. 9 faew ¥ dfe-faese ogfam R ?

(1) sfeear = afe: + T
(2) eside = omsfl: + ae
(3) ToRr = + I

(4) qUETA =T9: + FA

45. /91§ @ 59 e’ & 7 g 78

g7
(1) & 9 Bl ARAT -
B ST 3T
(2) SRIE S BIAT - g9 Bl S
(3) R 1 TENT U q ST -
o TRHH BT
(4) gt H S A - qE GAH B
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[A]

6.

Select the correct option (Phrasal
Verb) for the underlined word :

She rejected his request to take her
home.

(1) turned up
(2) turned down
(3) turned out
(4) turned off

50. Select the appropriate modal to fill

in the blank :
Trespassers ........... be punished.
(legal notice)

(1) shall (2) may
(3) should (4) ought to

3l. Choose the appropriate preposition
to fill in the blank :
What is the time ........... your
watch ?
(1) in (2) from
(3) by (4) on

[12]
3Rl (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.
Choose the correct option to fill in 49
the blank : T
This pen is both good ........ cheap.
(1) as well as
(2) as well
(3) but only
(4) and
41. Select the appropriate preposition to 50
fill in the blank :
His hut is ......... hotel Taj.
(1) above
(2) out
(3) besides
(4) beside 5.
Choose the correct meaning of the
underlined words :
The law and order situation will only
become worse in the state due to the
riots, if the government does not do
something right now to nip it in the 52

bud.
(1) To plan in detail to stop a threat

(2) To destroy the problem in the
initial stage only

(3) To arrest the culprits

(4) To stop something harmful in
the initial stage

Level-2/203

52. Select the correct option (Phrasal

Verb) for the blank left in the
sentence :

Cholera has
(1) broken out
(2) broken down
(3) broken up
(4) broken off

........... in this village.



53.

Choose the part of the sentence
which is incorrect :

The party president made
()
Rakesh a M. P. candidate
(b) (c)

for the coming election.

(d)

(1) a
3) ¢

2) b
4 d

94. Choose the part of the sentence

which is incorrect :

He did not  keep his words
(a) (b)
to pick himup  from WTP.
(©) (d)
(1) b (2) c
(3)d 4) a

55. Choose the correct tense form to fill

in the following :

I had consulted my lawyer before I
<vevee.... the complaint.

(1) did lodged (2) had lodged

(3) lodge (4) lodged

96. Choose the appropriate modal to fill
in the blank :
He ............ listen to the stories of
his Grand Ma before he slept.

(Past habit)

(1) could (2) shall
(3) would (4) might

[13]

51.

[A]

Choose the correct meaning of the
underlined words :

The hostess broke the ice by
introducing the strangers to each
other.

(1) To make people relax with each
other

(2) To make people perplexed with
each other

(3) To serve welcome drink to the
guests

(4) To start a game of puzzle

Choose the correct tense form to fill
in the blank :

Municipality has decided to
the overhead wires.

(1) did away with

(2) do away with
(3) has done away with
(4) had done away with

99. Choose the correct option for the

following :
One who wastes a lot of money is :
(1) frugal

(3) prodigal

(2) recluse

(4) reticent

Select the appropriate modal for the
expression given :

Harish has annoyed his boss today.
He ........ be fired soon. (probability)

(2) can
(4) would

(1) may
(3) ought to

Level-2/203
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[14]

[ - III (PART - III)
Y 3199 (GENERAL STUDIES)

RIS ARG, Tiiched ST T4 | ST U§ SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3 : R 797 % o7 &7 & [ qag ST 4wy g

Direction : Answer the following questions by selecting the most appropriate option.

61.

% ar & TEE 66 HiX B, @ 39
IR ¥ ¢ & 9% ad 1.32 9
oY & g @ g ©

(1) 1000 (2) 50

(3) 500 4) 5000

140 HeXx T WSl B oA
60 fpdt /auer B, 3@ 260 Hiex @=
WeHH B IR HH F fha T
T ?

(1) 18 TFvs
(3) 30 TFHTS

(2) 24 QFTS
(4) 32 QTS

63. UH HUST fasbar 33 HicX HUST T9a,

A W B QAT B, O ST ard
yfdsrd ®

1) 11% (2) 22%

(3) 50% 4) 40%

afk 4 g&Y a1 6 AR T B HY 7
goe gfafed wd & 12 Rl § #
T ©, O SE FA G G a9

10 g69 J&1 3 AfEAN 8 gUS MR
P S b & 7 QT H wH 7

() 6 (2) 7
(3) 8 @ 9
65. 37fg x:1+1\/§ '5;[, @ X2 +2x+3
H AN R
(1) 0 2) 1
3) 4 4) 2

Level-2/203

61.

65. If x=

The length of a wire is 66 metre,
then the number of circles of
circumference 1.32 cm that can be
made from the wire is :

(1) 1000 (2) 50

(3) 500 (4) 5000

62. A train 140 metre long is running at

60 km/hour. How much time will it
take to pass a platform 260 metre
long ?

(1) 18 sec
(3) 30 sec

(2) 24 sec
(4) 32 sec

63. A cloth merchant on selling 33 metre

of cloth obtains a profit equal to the
selling price of 11 metre of cloth.
The profit percentage is :

() 11% (2) 22%

3) 50% (4) 40%

If 4 men or 6 women can do a piece
of work in 12 days working 7 hours
a day. How many days will it take to
complete a work twice as large with
10 men and 3 women working
together 8 hours a day ?

(1) 6 (2) 7
(3) 8 “4) 9
1+1 7 then the value of
X2 +2x+3is:
(1) 0 (2) 1
(3) 4 4) 2



66.

7T 318X IO 1 STFIAT U BT :

CAE, HFJ, MKO, RPT, ....
(1) UTY (2) WUY
(3) VUZ 4) WUZ

67. Ui ARREl A, B, C, D @ E #, A,

B ¥ BT AfF E & @ 8, C T
T e, D, B @ BlET & AfbT A q
T 8, A 3T | B G99 Bl © 7
(1) B (2) A
(3) D 4) E
U HHEGYS & IR 100 | °

AN ITH TH fopet 40 JH B, @
IGH ATHA B

(1) 300 " (2) 600 &’
(3) 780 ¥ (4) 900 T’
69. I frerg d@ M T & W ¥ vl
forspemg & dfer e fot & 1:3
T T g H U 2 ;5 B 3 AW
fersrergett 1 e ergur # e o,
dfe T fgag § d@ T &
AT 3: 8 B S ?
(1) 3:5 (2) 4:9
3)4:7 4) 3:8

A ¥ & “98 dSH JU HEel & 9
& U B, AU PE A oT¥El afes W
B1” TEH, A § 59 yR gefa B ?

(1) =r=n 2) §A
(3) wiiom (4) TE R

71. =1 At § 7o e @ S

135, 226, 353, 552, 739
(1) 353 (2) 226
(3) 552 4) 739

Level-2/203

[15]

[A]
The next term of the following letter
series will be :
CAE, HFJ, MKO, RPT, ....
(1) UTY (2) WUY
(3) VUZ 4) wuz

67. Among five persons A, B, C, D and

E, A is shorter than B but taller than
E. C is the tallest. D is shorter than B
but taller than A. Who among them
1s shortest ?
(1) B
3) D

2) A
4) E

The perimeter of a rhombus is
100 cm and one of its diagonal is 40
cm. Then its area is :

(1) 300 cm® (2) 600 cm®

(3) 780 cm® (4) 900 cm®

69. Two alloys are both made up of

copper and tin. The ratio of copper
and tin in the first alloy is 1 : 3 and
in second alloy is 2 : 5. In what ratio
should two alloys be mixed, to
obtain a new alloy such that the ratio
of copper and tinbe 3 : 8 ?

(1) 3:5 2)4:9

3)4:7 “4) 3:8

A said "that boy is the grandson of
my mother's husband. I have no

brother or sister." How is the boy
related to A ?

(1) Uncle
(3) Nephew

(2) Son
(4) Cousin

71. Find the wrong number in the

following series :

135, 226, 353, 552, 739
(1) 353 (2) 226
(3) 552 4) 739



[A]

12.

_@Wﬂzﬁmﬁﬁ?ﬂ%
o B

Z 5,000 W 12% a8 =T $f &< 9

2 a9 & QERY AN T BhYlG A
§ =Y B

(1) T72 (2) T84
(3) 296 4) 36
a gl # I 520 B, 3R S

:t:l)

S "e @ 4% FH B QAT W
AR BA A 12% g1 Rar g, @
Wa@mw@‘ﬁ,eﬁwﬁ@

BId G § ¢

(1) 210

(2) 240

3) 270

(4) 300

fr=fetied

FHITT
G4T, J9R, M20P, P41N, S90L

(1) J9R

(2) M20P

(3) P4IN

(4) S9OL

I H IHg T A

& AT 19 )
et @& 79 545
T {6 ©

(1) 361 &%’
(2) 286 T’
(3) 236 &k’
(4) 340 Fh°

g TR
qu 3
o B, @ 3g

Level-2/203

[16]

12.

The difference between simple
interest and the compound interest
compounded annually at the rate of
12% per annum on I 5,000 for two
years will be :

(1) T72
(3) 96

(2) % 84
4) %36

The sum of two numbers is 520. If
the bigger number is decreased by
4% and the smaller number is
increased by 12%, then the obtained
numbers are equal, then smaller
number is :

(1) 210
(2) 240
3) 270
(4) 300

Find the wrong term of the following
series :

GAT, J9R, M20P, P41N, S90L
(1) J9R

(2) M20P

(3) PAIN

(4) S9OL

75. The sum of length, breadth and

depth of a cuboid is 19 cm and its
principal diagonal is 55 cm, then
its surface area is :

(1) 361 cm®
(2) 286 cm’
(3) 236 cm®
(4) 340 cm®



11. WEH B T G H,

(4) IRro-uiEm

A
154 qor B @i @ 4
g, Td AT BB HA
C, A & THeq Tt &R ¥,
Rafg st R A M B ?

(1) odf
(2) 10dt
(3) 124t

BIH
I N CC )
Rl oo 8, 36 9% 98 SaX fau
¥ gea 4 fdl @@ 31 o 98

yRfe farg & feal QX @81 & 7
(1) 5 et
(2) 6 Tt
(3) 3 fit
(4) 4 et

gie W = 23, STRONG = 93, aI
WEAK X & :

(1) 40
(3) 43

o, =
EP-W

2) 41
(4) 44

Level-2/203

16.

[A]

If a person walks 8 km towards
South then turns right and walks
8 km, again turns left and walks
10 km. In which direction is he from
starting point ?

(1) East-South
(2) North-East
(3) North-South
(4) South-West

71. In a row of boys, A is 15th from the

left and B is fourth from the right.
There are three boys between A and

B, C is first left of A. What is the
position of C from the right ?

(1) 9th

(2) 10th

(3) 12th

(4) 13th

A person walks 2 km towards East
and then he turns to South and walk
I km. Again he turns to East and
walks 2 km after that he turns to
North and walk 4 km. Now how far
is he from his starting point ?

(1) 5km

(2) 6 km
(3) 3 km
(4) 4 km
79. If W = 23, STRONG = 93, then
WEAK is equal to :
(1) 40 (2) 41
(3) 43 (4) 44



[A]

o
i

)]

(2)

3)

4)

81. HAfeql E@El & fqaE & o R W

‘qeguE] e SFF o & ded A
S At TR E

(1) 11,000 &9

(2) 21,000 9

(3) 31,000 T1

(4) 51,000 51

1857 i =T & & SIGEAN B
REC-HDIE

(1) =T |

(2) BHETR 9§

(3) =} |

(4) IR 4

83. WAy, 2021 ¥ IR ‘3631 KA

AR Tudferd AftqeERm § sRarn
759 1 fhae @l e i ?

(1) 13
(3) 21

(2) 18
4) 24

Level-2/203

80. If 5a+L:5, then the value of

3a

9a’ + 18 :

25a>

(1)
2

3)

39

4) 5

81. The amount which is given to the

82. The

sports woman on the occasion of
marriage  under  'Mukhyamantri
Vivah Shagun Yojna':

(1) Rs. 11,000
(2) Rs. 21,000
(3) Rs. 31,000
(4) Rs. 51,000

hero of 1857 Revolution
Abdurrahman Khan was related to :
(1) Bahadurgarh

(2) Farrukhnagar

(3) Jhajjar

(4) Yamunanagar

83. How many gold medals were won by

Haryana state in the '36th National
Junior  Athletics Championship',
which was held in February, 2021 ?

(1) 13 (2) 18
3) 21 4) 24



84.

fr=ifeifea & @ N eRamn & gatfas
Ay & for Touuw @ E 7

(1) o TIo Tkl
(2) To #ARo freds
(3) S eTiedr

(4) T 48 dide

85. BRI Wit oTHEH & SR H

FTIRGT FHAE PN qfed -

(i) JeIw=l APl & AH & &Y
P FA ol

(i) ‘sTerer STmEHr S IS Bl

el T g :

(1) Pad I (i) Tl &

(2) Pad B (i) TEI 2

(3) T & () A T & (ii) T B
(4) A9 HIF T B

‘Yo’ e e eRamem H @l
Re 8 7

(1) qotaa

(2) Sfaren |

(3) &fi9 ¥

(4) SeawTe |

TiprT ST e’ e P # R & 7

(1) oad
(2) e
(3) BER
(4) Rar

Level-2/203
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[A]

84. Who among the following was the

longest serving Governor of Haryana ?
(1) B. N. Chakraborty

(2) A.R. Kidwai

(3) Jagannath Pahadia

(4) Kaptan Singh Solanki

85. Read the following statements about

87. In which district

Haryana Sahitya Academy :

(1) The Chief Minister serves as the
President of the academy.

(i) 'Harigandha' is the Magazine of
the academy.

Choose the correct code :

(1) Only statement (i) is correct
(2) Only statement (ii) is correct
(3) Neither (i) nor (ii) is correct

(4) Both the statements are correct

86. Where the 'Panchwati' pilgrimage

site is located in Haryana ?
(1) In Palwal

(2) In Ambala

(3) In Hathin

(4) In Ballabhgarh

the 'Chinkara
Breeding Centre' is situated ?

(1) Kaithal
(2) Panchkula
(3) Hisar

(4) Bhiwani



[A] [20]

88. BRI @ T Elﬁ'ﬁl?{ | NSRS 88. The minimum number of members
B Whd © in the Council of Minister of
Haryana can be :
(1) 10 2) 12 (1) 10 2) 12
(3) 14 4) 06 (3) 14 4) 06
89. ffafad & § IM-A1/H-9 Rl 89. Which of the following pair/pairs
7e /27 is/are true ?
(i) 9 9 — el Ul (i) State Animal — Black buck
(i) T a9 S HATARTT — o (i1) Saraswati Wild Life Sanctuary —
(iii) TTEX 1 ST ATIRT — oo Kaithal
(ii1) Nahar Wild Life Sanctuary —
X Jhajjar
i 5 Eb-r A T Choose the correct code : ”
() 7 @ (1) Only (i)
(2) (i) S (iii) (2) (i) and (iii)
(3) (i) SR (ii) (3) (i) and (ii)
(4) e (iii) (4) Only (iii)
90. f=faiRaa &t ﬂ'ﬁﬁﬁ HITT : 90. Match the following :
qaH (I Name Place
(A) SREd @ 1T 78d (i) T (A) Birbal's Rang (i) Narnaul
(B) atreatic (i) T&I™ Mahal
SPRKE (B) Spiritual Museum (ii) Gurugram
(C) I} NSES (i) IFTTR (C) Chor Gumbad (iii) Yamunanagar
(D) Hres @ e (iv) qrId (D) Sohna Fort (iv) Panipat
Zc: Code :
@A B © @O @A B © @O
(D) ) @) @) @ (D @ @) @) @
(2) (i) @Gv) @ (1) (2) () Qv @H (1)
(3) av) @Gy G @) (3) v) (@) G @)
4 @) G @ 1) @ @) @@ @ (v

Level-2/203
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[A]

RT- IV (PART - IV)

UST§ (PUNJABI)

9l1.

sea fiw €@ @ s=% = & o,
Jfemr ?

(1) fEa fimrs @ 3B=aT
(2) f¥er &g
(3) ufegg ungt

(4) »ig fufsmr &%

) 1,

J? fovsfeug f&g fausr feasu €w
'3 B &4t geT?

(1) izt € yadi M3 Jgwt € 93 €<
ToT fdq Qv a=t T

(2) fodt Sutemget 3 U9 BW AT
T foust 3 g9g a<t I

(3) 795 I3 W3 we < faamw HI
MBUS BT <t T

(4) »yst I€ w3 gAst § fagramd

Hos 5T odt w3 feame<t
wfed I

Level-2/203

93.

fagz € Afzga’ feafsnt fdg um JT

He/ferr=ng g9 faozr d@s =gns

a9t T?

(1) feg feafqait &g »ife ug dgn €<
& WafAasT § ganger J|

(2) feg feaialt feqa 4§ pg™mr =@ d€e
€ W& & UFaet St gder J|

(3) MI3HaE® FHET M3 IHE-HAgdl
fen featat e aedt femr I

4) fagz € nAfzgs § =zuger #3

898 5T HY HE € HIS=UIe

de JI

nigiow fedut dra=s Al few 37 3@ <

g=ge »odat & Gae fusr 37 miow

fegr?

(1) fa@fa @g WuE my € &8 <F
AH™ HU'dd H& |

(2) faBfa s7aeg d= a9a Aoz A==t
¢ 439 f<9 ma § G57 & st
St €< Hh

(3) fa@fa €v =gz »nits, femsew
M3 HEETST Adilged ¢ HG |

(4) faQfa v Ua »ia"Ha-9913 A& |

P.T.O.
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95. Adeg a3 fAw #t € fugr e & &t
At? 1907 €wn<t &g 7€ g9z fiw
d€ A& ?

(1) meee wets flw Wiz (fmie)
@ 75 feg

(2) Aoe9 fams fAw: Fed® A% &9
f&u

(3) Aged FA=ds fAur »i3ws w3
faaeg (arduret) & A7 &9

(4) AoeT w3 fiw Aea® 7F B'd9
feg

96. ‘AN fAdt ¥ faaue € &t Hame J?

(1) ug 8at & mfen, nfgg w3 wfgdt

Ales &% A367T

(2) fefomrs &9 a7t ot Jus =8

YT's J9aT

(3) €W ¥ A< FIIT § HEIHd J9T
&% feformrs &€ fauist 3 A<
Fa=geT

4) wfen € feferaat & Wne-feas
ST AEE HIEhAT JdaT

Level-2/203

91.

Agd3s’ &t € feq g e fagg aisr
I feg dger de 7

(1) HI™3H™ §U & Y39 JI

(2) 82 235 & e dec T feq
fefamrst T1
(3) HI3HT gu ©T fex fam J1

(4) ggs Aigr =dar fed Hat wHas
g4 34 J|

98. Hf 3G 3ad €= At € H3™ M3 AU3aT

or dt &t At ?

(1) st g&t 7 w3 sT&at At
(2) "=t 7t I HowAr o<t At
(3) »d At w3 I A

(4) f3usT 7t »3 APyt #t

99. Ifgmrer € fAowr fagr & gt

fowmag = Q9 foosT s=9 At fAns
1857 €. & Jed AT wigear fedu
gare3g Ji3t At ?

(1) o6 3z
(2) s=9 5799 fAw
(3) =79 g9 HIHE

(4) s=g rfore »&T IBE™H



100.

o
o

=
N

‘a3 ug €3, wuEe It fAg utEl”

myE © =93 fago fagt mfgst f<s

3t AT T ?

(1) A< dgt der fan <=t fAz =
fAgaT »uE It fAg & faor 3=

(2) A€ dgr der fan wr J9a3
Jad MuSt §feast Wy It Ja=T
T2 |

(3) fan J9 <t 933 aae, fan Jg <
g5 I A F )

(4) A< agt vay f&q yitag T feas
o, gHdt yAteS f<9 e/ A< |

fefarrst gse5 3 feser 37 wues

&y Afog = €@ faosr AusT A
fAng €9 yar adt A& 99 Ad ?

(1) »met. €. WA, »End 96 €

(2) yafert € dgd & gEEA
udege =

(3) forua g5 =

(4) 9793t g=TEr d9 € At AvH ©
Ufese g6 @

=

3

YT By g4 Afag € fusT At e &t
ST At?

(1) s yetgete fomst
(2) wy AHBEts FBHS
(3) yT g3EEtS Jat
(4) 7T wiseg aredt

Level-2/203
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103.

=]
'S

[A]
BT I& &7 fEBer Yared e ot w9g
J?
(1) daq A="
(2) fwgsT gasT
3) y= T feaaa daaT
(4) 79T <t ude & FIET
‘gfe I@AT JI3H 89, A It Ffea &Tat
391
Jg 3T st fag W9, Wi§ Fcer
ust =@’
feqt arfe-nzer f&9 o ghs #t ovar
=93 JT mue 38T T At I=E I?
(1) yvtmz
(2) war3T/AHdET
(3) tmr-dmr

(4) v T8 SH uT9g

gefdag fiw 973 & Jast ‘Tavst

M € faos Sat s Adfag 97
(1) gattmt ff9 = e 3aF &%
(2) g B3 575

(3) HutsaEt f<9 @Ae Jat &%

(4) anfewt feT Ifde 3ot &%



ol
=~

=
©0

reed Guv fiw & B35 7 I faw
»idled MEHd § WSt I8t T fowsT
gTfemT ?

(1) 7ovs o7feq §

(2) &35 FBIA &

(3) A&9® AiZIH &

(4) velas Gaefes &

TI3T U T e & I da

(1) wiar &3, fuer 331

(2) fea J5 &5 I3t &t AT

(3) mryeT staE, uarfenT €|

(4) Wet 7 gTEn, B B € 3Tt

S S v

‘HET 399 5 ¥, MY BEIR €5 Y|
a3t '3 Higew dute, utet, gy 3 Jy 1’
ugv.d.i. a.rg. uag’.rn SHT aﬁ? h%“
T3 JT mEE ‘Hfged’ € &t »@g J7?

(1) =g/39ys
(2) ¥Hu/Are-Hud
(3) mdfz/Ats o

(4) vg-ufeza/my

Level-2/203
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109. Jewdt feut f&g Gegeardt & Y=

ot

el

ot

ot

s Ug-fiet U =% wyar <t farest
at g2
(1) &
(3) fd

2) 4=
4) =9
fagsT u39 ‘99 IH IAsl fegian e
Sdt T2
(1) umr (2) =g

(3) A @ (4) vt

43dem U9 TabdT g9 f@g 93 fam
AES I w@er 37

(1) Fg= 2) &
3) 9§ ) g

yg=w fam Foret & U39 J7

() ¥ farm 3 we =dt: =wams fiw
nHE

(2) et gBfdeg fw g9

(3) e I wBfeeg fiw At

(4) &=t & funrg; Mg =fims

fset & Harfo & &t fagr #fer 372

(1) varaat

(2) ™™ HH3T

(3) fenrage

(4) uat fefornrs



114. AIe9 F913 fiw fam mum < 3F<t9 &

ot
ot

IHET WMTUS d% dyeT ger At ?

(1) »myst Wt €F 3n=te &

(2) Wee9 F939 AW magT™ &t IA<=IT
3

(3) wrust Va3 &t 3A<le @
(4) vos fesaset s&T gafenrs <t
ELCICE)

gu3t & Mue 8| ydts I &9
fegt € »rdg fam en <9 dfewmr?

(1) 393 € feq dust gu J9uT f9
(2) metas f&T

(3) b fg

4) 7us fe

3T. g TC »igEdd € #7SH TE M3
fag gfemm?

(1) 14 »3s 1891 #mst &, wder

formz &t g8t (Mo yem) € fis
Wy f<s

(2) 14 »y3® 1881 €. &, Hu yew &
fea wfag gus feg

(3) 17 sa=dt 1863 3§, muewe fag &

(4) 05 =r=g 1872 o=t 3, amdsT
feg

Level-2/203
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117.

118.

[A]

ges™ fiw 3o € ggs Ho=wT U

St guHgTEb T ferr &t § M3 feo

rfaz € fan gu &g feut aret 92

(1) Ham3W™ §u € g™ w3 fomafdse
g9 fafr faprr f€q Jur-fezg J1

2) vo3wr HU ¥ &St €&t 3
wMOfdl HEH I w3 fendar @msT
fea 3u T

(3) UMW g & Ae dAiest T fia
famr T

(4) HoaH™ §U € TIH-IA HI g9
ot aret fea afesT J1

Aent fefase e Hes™ & &t At?
YETE i3 e

(1) HesT &t feresd

ANt fefase’ & yEs a3
8T € I9 I fqHs uaHde At &
HesT &5 Jius gfe

ANt fefase’ & yEs a3
gt € gg Henit Tafmen=g &
HEST &5 &ded &'F

el fe=fade aH yEs dism
g I fqus uandm #t &
Hesr & feren=sg

ANt fe=fase’ s yEs i3S
Gat € fif3T u3dt fowms € o=

-~

)

2)

3)

)



[A]

119. 9913 dfee™ A fAag A A3t af3 e

=
N

o
[

en mr v faT afg o9 Fs ?

(4) Iraes € AES I

3. fygst v gug y3=a HldtwT &
JATsT € & e fmit &9
Damascus fafimr aer 31 A=t f&g
ferer faozT migee/899s Aat I7

(1) EHHIH
(2) SHHIA
(3) =fima
(4) ©HFSH

€ fiftwr yuz F95 BT AT
v €€ fda =fgut = wt?

(1) 21-22 =fgmt &
(2) 19-20 A&t =
(3) 15-16 =fgut &

4) 17-18 A&t =r

Level-2/203
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122.

=
N

MY € A9 HT AR <787 feasy §E
(1) s, g, fish, veat
(2) Ush, foms, stes, gw
(3) waw, g7, o, Gam

(4) fw3g, 7, »iar, ga3T

FBEl’ v Ffegy fgggr T w3 femer

JI&IT dS J?

(1) feg fég Tovs-fumdt Sxaar Ji
AHT 37931 ATH ferer gesda J|

(2) feg & Fo=t I gas fiw fere
JUT TS |

(3) feg féa feaat J1 Az fiw #E
fere 3ud I& |

4) feg fdg FBFoSt T T5-
Joelad 3. TaHs AW wme
fere g9aa9 I5 |

feme &g ma@féar e HWe fams, ae
w3 fag e At ?
(1) 397 &35 u=s &, 1907 . f39,
féa@s € 8% At (ME8T) 3
(2) w&T wfgardt &95 Aage 3, 1917
gnet @9, ffads € fa wfog
IEE)

(3) ®95 U=y AIGen &, 1908 et
feg, feest © fea nfge feu

(4) féadF € mEe ¥3<9T H3T 3B,
1908 €t. feg, S35 feu



125.

=
N

“fam g3t AZ <t 3% A, u3T st faud
MYsE3t VNS Afswr” famrst
Jafes fw Ifes 3y ‘sfoi-gan’ 9
wad few =9 f&9 »e gue A3’ I o
T JT?

(1) AouaT, a3 AT iyt

(2) fegw, ferd A Haz

(3) ¥, m, fAs A 59 w3t

(4) ymusat At fegauar

HTS &% BldaT ©F Ii®I &% W9 Jie
dI9d MeEAd €7 o & H ?

(1) 93 Wa® <« ganr €. 1. Al 79
FIAs Tfest

(2) 97 HIS

3) 393 d9ds

(4) B9 HIS

‘FII9T AJat sHA fegiant € J9EAT
Jeng gofenrs fiw feaisitas 9= 3
fesrer fdq sesd9 @7 QU A A
5| forsfays &9 fags =5 G5
or &at I

(1) mede

(2) &7 ov9T HAleer

(3) ygmr

(4) w3t = dt=r
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128.

=
N

[A]

SH-UHt d€ 3 feg=r Hes &5 Sfaer
afes~-pit & "t Qo fam a=t <t
faost afesr 3 w93 ygrfes wt?

(1) ¢t »m. wshie < afesr <Swme

A —_.

37 I

(2) nigene Jffae & Tua B3 W
W e A I

(3) &. 2. foBy =t afes G537 Haw
Ju 3

4) ¥. yas fAw &t gfesr ‘& nfuge
96 Uus’ 3

fea =ubr zefese yfstal s=&
wet fan fami &€ gut Garer &3tet get
g7

(1) Iofaa-arfeza gat

(2) watgars gut

(3) yfegsters gut

(4) wRydt gat

-

34t g9 @r Wy femr w3 vi3< ot J7

(1) gzt & feem A= < @A
€995 M3 Adt sfaaBer

(2) Wiyt & gt & feew grAe &t
di¥ § TanBeT w3 =fAy ST

3) g Bat &t fan = Ida feewt
f@g Ar 9 <A < 3 § um
FI&T

(4) yge™ Ffawt evar 93t IS

T F13 7 Are § €F9W J9aT

P.T.O.
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131. gg-fef3om »ieg &t gt #F & J37

5" J1 €9 g9 391 sUed mfoy € &t

BI A ?
(1) yzaTat (2) yzet
(3) &=t (4) =<t

. Yy Hafefarnat arssd & Wue g9-

gat  (Multiple Intelligence) RT3
wuls fda 39t & gt e ysmr qi3T
J7?

(1) 47 3g* =

(2) iz yaa <t

(3) & famt &

(4) 3 Saatmt &

. fsitas (Lipikaar) at g7

(1) dfuGes et 37 =t grforr
FHE & JI

(2) g9t gw=t 9 dH TIs THT
dfuGes = fég Guaféar fAmen J1

(3) daet = ufgsT w3 féa-fda =93
YAAg J |

(4) dardt e g ereifiar Argeena T

WYg »Igg wygdr & Udr &9 U= @

nyg fdad I&7?
(1) s 2) f3=
Q)< 4) ="

Level-2/203

35. 9T HY =Gt Al € Hame AT gig € ot

&t At ?
(1) wvaT g3g<ls gufam™d aat
(2) wg feafezs

(3) IBYH HIE-8-Els HyeH JHat

(4) 993 AY HUTHClS HId<d<l

feg It s ?

(1) 1962 €tw=t fog, FamasT fei
(2) 1958 en=t feg, i feu
(3) 1966 €. feT difdar feu

(4) 1958 etn=t few Ufow feu

. A. A 9d&s Mw wmale Ifes afesr

ufow' feg ‘Jfos’ fresumse 3 o
gT I?
(1) 3t v egfmrt =8 ufest mg

FIST
(2) fast yargsT fA3 AT
(3) feg f&a &3 = &F JI

(4) ugnt &t féa fanrat e feds™ 98
TE &g IOt HWS TBT T<TEr @
& T



138. Joudt 9 =93 AT BIryat & IS

ot

[t

ot

farest fdat I7
(1) = (2) v
(3) =n 4) f3s

Tlow A9 faux & °?
1Heee
3) # g

(2) »f % A

4) gwfe

&9 ot Ifaer gder I7?

(1) ¥t anAet € ¥€8% Td Wd9
TarrgeT gder J|

(2) A=t gnREt W3 we © g Iy
M3 Jeu fSo gus A< <« %

Faer J|

(3) anet f9° wa Tt mretit € IiH
J A d9e Uer J¥ I3 OnsT
gder J|

(4) dardt gEEl, wd, AHH W3
Afgrmag & ge8<t a99 & un

JI&T Iger J|

UfgsT IeH’ Us-uA3d 9 Tad %

J?

(1) Ha™® FAHde waEd & AN dfewr
fég femrg 379 J1
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[A]
(2) Hedt W3 vedt ava gt = fu§

EN

T

(3) vuas f&g dfemr Jat @ fins
Jus T ffq IIr HI® ToH J|

(4) mufess gar feg Jfewr fea damst
Ba-&fed J1

medfod f8as & #AaH oo w3 fag

Jfemr ?

(1) 09 »uds 1865 €. &, »1dlar &

(2) 12 <99 1849 dinet 3, féads
v feq fuz 39

(3) 09 »ds 1833 . § féads @

(4) 12 =a=dt 1809 €=t @, Halar
o fq ygdtd w3 §A9 fega feg

J9 35 €< A 3 & d At g Jifde
fAfw &t g 3¢ en gg mfogs &<
fide ggmt <t wet At g9 S Aoy
feg rifag sdt 97

(1) féa gg mrfow &t
(2) € 3@ Afogs &t
(3) 99 ggnt €t

(4) 47 gt <t



=
1Y
=

=
(5]

=
»

[
[

. @Y €9 Ay 3 feur A gy IH 5

Jet Il g9gTsT < fem A9 € I9ad
d< T&?

(1) 3g »a & At

(2) gTet geew A

(3) dov u3HTg Ht 3@ #aAs €< At

(4) At 99 sTaq &< A

fseg wfamre<st & ‘ustyt 3 gaIbat
T on fam e g faor 97

(1) »3ws w3 fadgg & eyt &
(2) mAeIBT &

(3) faGwtds 2

(4) F&37 3

‘DI I BAIGT JE@IPAT Hat=d @ o

"3y g7

(1) féms & afost

(2) sEanit et

(3) A&3T 39 'F Wt Har & A 39T
ddd g’

(4) gar @<=

A5 fix Aot v 31 feo for yara @
s feg der 37

(1) vadtet mits fg

(2) mies & d¢ &5 Mis fo

(3) T3 W una Wis 9

(4) st wE fifgt mis foe

[30]

148.

=
©

=
gl

Hofde € poe€9 THIG s W3 g9
s3el feu gavQ Tl ¥s & 03 a<
w3 fdg Jet At?

(1) 12 vt 1708 €=t §, mefie feir
(2) 30wt 1710 &. g, mafie f&o

(3) 12 W&t 1710 . g, Juzfest
Hes f&g

=)

(4) 08 et 1710 €=t g, mafde 338
fiz wgug feu

At A=dt AT A=9 gabdt Y 3w

Aeg & I5 faest fdat 37

(1) f&= (2) H3

(3) = 4) 99

yrArdt Hee-8U »igHd mEe fds yaa &

de 787
(1) =° Q) &
3) & (4) nis

Level-2/203



% %4 & T (FOR ROUGH WORK)




R @& @
IR TF F RN GHEF B X 3§ O SR IR T H
Sl

N
6. Answers to questions in answer sheet are to be

given by darkening complete circle using Black ball
point pen as shown below :

O @ ® ©®

The answer will be treated wrong;, if it is marked, as given

below :
O ® & @

If you fill more than one circle it will be treated as a
wrong answer.

10.

11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. 9l I 3T OMR I TF T & ik H T II AFYIH

J
. 6 FE -G § 39 WM & [T @ T @l e W 8 # (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | IT oA o W o1 (ThE TYS) BTN
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. J% 99 & 0 RU U =R fowed § & S faecy & T OMR ST % W #ad 06 99 & & T 06 & a9 @R’e 0

¥ T TF IR IX Sifhd B B 9% 39 Sea Tel o Gl o (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

o=t gRfEa #X % 30 ST T B qYl T ¢ U6 S8 W HE AW MW T ) Tl iU STgHiE SuX T d
fraifa wm & sfafed o= 71 foreh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the
Answer Sheet.)

- T4 IR T B ANGEF T B, Fis HE A Rk § (997-gRaw SR =% F FHE § e @ Rafy
& W) {H’ﬁ g W e Iuee T WI% Wﬁl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

E[SFT-W/ET‘R' =% ¥ RU T wEie B Tl 9l ade 9 swnR 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

afl # oen S/ § TR ol TeAN W & ofoRe Rl ser @ argg-aren, gd o st s & afr,
JoR, MeEA B, gasli-es SUBT A Rl oF UK & |l & S a1 IWM HIA @ A Tel 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

T B U8 TN W TaE ol SToAT WAy #E (A o) iR wgAM U R@MW| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

&% e AT THAEE B AT STFAN $ AT HiE TRl STUAT WM 7 Bi| (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PR JHAEE B AT IR T 2 T T sWER 9 W AR sERR R faer erwd) qlen g 8 seh Ak e
el 7 gAY 9R SWER 9 W SWRR e Y a1 ¥ A e f 3ER I T e e’ & R T HET &
A AT STCT OMR S O & Feiia @M W ol ol e o ey & oS & e e S 21 S &
MM 10 999 59 99 W M @ ] [ Qe @@ Aen § & a0 A i @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa UReheth B SYANT afotd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F R & Y, TRl feRlE & & T ubk/Ren-fRw 7 98 & o e @ e @ Ry em W@ sgRa
et & o T & e S » e wd e @ &R (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ:T-S]:FIEH IR TR =% Eﬁg AN ST I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

TUE FO BN W, TRl F /A Bled § [ S T H-THAEE B oA A A1 AR A WY 39 9e-gRAH B A

S R R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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